W YN{B#2012 (6HELEDHED) )
[BsRkaR] Bha=#b 3. 51+:1. &F:0
JtESC |magxin-x| BTHJIFC |BHELSESC|EILAY-IR| YNFvA-R'| 5 | 20+ | &l BB = TR | &R |BKE| B
JtEsc wigoz | 3 -3 0-0]2-2,0-11]2-3 0 3 2 3 7 9 -2 6
RABKIoI-2 3 -3 | vasoz | 3 -0]2-3|2-4|1-2 1 1 3 4 11 12 -1 5
ETHJFC 0-0|0-3 | wamon| 0-0|0-213-1 1 2 2 5 3 6 -3 3
mEEFELESC 2 -2 1 3-2,0-0 | wasoz2| 1 -5/|0 -1 1 2 2 5 6 10 | -4 4
EILAY-IZ 1-0|4-2]2-0|5-1/|wago2| 3 -0 5 0 0 15 15 3 12 1
YN&yh-2 3-2]2-1]1-3,1-0]0-3  wason 3 0 2 9 7 9 -2 2
W YN{B#2012 (SHELEDE) s
[BsRkaR] BbA=B5:3.914:1. 8F:0
IZf=BJFC|mss=mirtnry KSFyhH—X| BIESC |BERELESC|YNFyH—X| Bib | 91F | &l B = "R | kR |#BXE| Bf
IZt=BJUFC oz | 2 -1 0-4]1-3|1-81]1-2 1 0 4 3 5 18 | -13 5
ESE=/INIAMLIY | 1 -2 | wasoe | 0 -2 | 2 0| 1 -9 |1 -2 1 0 4 3 5 15 | -10 4
KSFyHh—X 4 -0 | 2 -0 | wawo2 | 8 -0|2-21]0-3 3 1 1 10 16 5 11 3
BESC 3 -1/0-2|10-8| wa#oz | 0 -6 | 0 - 4 1 0 4 3 3 21 -18 6
EREDESC 8 -1]9-1]2-2|6-0| waso | 3 -0 4 1 0 13 28 4 24 1
YNFyH—X 2 -1]2-1]3-0,4-0]0-3 | wasoe| 4 0 1 12 11 5 6 2




